

MAJORIZATION INEQUALITIES RELATED TO INCREASING CONVEX FUNCTIONS IN A SEMIFINITE VON NEUMANN ALGEBRA

TETSUO HARADA

(communicated by T. Ando)

Abstract. Let $\mu_s(x)$ denote the generalized s -number of an operator x . We show a majorization inequality $\int_0^t \mu_s(f(a+b)) ds \geq \int_0^t \mu_s(f(a)+f(b)) ds$ for every increasing convex function with $f(0) = 0$ and positive τ -measurable operators a, b affiliated with a semi-finite von Neumann algebra \mathfrak{A} .

1. Introduction

In 1999, Ando and Zhan proved [1]

$$\sum_{j=1}^k \lambda_j(f(a+b)) \geq \sum_{j=1}^k \lambda_j(f(a)+f(b)) \quad (1 \leq j \leq n) \quad (1.1)$$

for every operator convex function with $f(0) = 0$ and $n \times n$ positive semidefinite matrices a, b . Here, $\lambda(a) = (\lambda_1(a), \dots, \lambda_n(a))$ and $\lambda(b) = (\lambda_1(b), \dots, \lambda_n(b))$ denote the eigenvalues of a and b in decreasing order, respectively. Recently, an extended result of the above inequality was shown by Kosem [5]. He proved the inequality (1.1) when f is an increasing convex function with $f(0) = 0$ by using the above Ando-Zhan result and an approximation method. In this paper, we prove the inequality (1.1) in a semi-finite von Neumann algebra. More precisely, let \mathfrak{A} be a semi-finite von Neumann algebra with faithful normal semi-finite trace τ and f be an increasing convex function with $f(0) = 0$. We show

$$\int_0^t \mu_s(f(a+b)) ds \geq \int_0^t \mu_s(f(a)+f(b)) ds \quad (0 \leq t \leq \tau(1)) \quad (1.2)$$

for positive operators a, b in \mathfrak{A} . Here, we denote by $\mu_s(a)$ the generalized s -number of an element a in \mathfrak{A} (see [4]). We first prove the inequality (1.2) for every operator convex function with $f(0) = 0$. Since Ando and Zhan used the $n \times m$ matrix trick to prove the inequality (1.1), we think that we can not apply the same method. So we

Mathematics subject classification (2000): 47B15, 47A05, 15A42.

Key words and phrases: majorization, operator inequalities, singular number.

modify the proof related to this trick (Lemma 3.1). Finally, we show the inequality (1.2) for an increasing convex function f with $f(0) = 0$ and positive τ -measurable operators a, b .

2. Notation

Throughout this paper, \mathfrak{A} denotes a semi-finite von Neumann algebra on a Hilbert space \mathfrak{H} with a faithful normal semi-finite trace τ .

A (continuous) non-negative function $f(t)$ on $[0, \infty)$ is said to be operator monotone if

$$0 \leq a \leq b \Rightarrow f(a) \leq f(b)$$

for any such matrices a, b of all orders n . This is equivalent to saying that the above implication is valid in the space of bounded linear operators on an (infinite dimensional) Hilbert space (see [2]). The following integral representation theorem is especially famous and important; for each non-negative operator monotone $f(t)$ there are uniquely constants $\alpha, \beta \geq 0$ and a non-negative measure $\mu(\cdot)$ on $[0, \infty)$ such that

$$f(t) = \alpha + \beta t + \int_0^\infty \frac{st}{s+t} d\mu(s) \quad (t \in [0, \infty)).$$

(See [2], V. 4.) A non-negative function $g(t)$ on $[0, \infty)$ is said to be operator convex (resp. operator concave) if

$$g[\lambda a + (1 - \lambda)b] \leq \lambda g(a) + (1 - \lambda)g(b) \quad (a, b \geq 0; 0 \leq \lambda \leq 1)$$

(resp. reversed inequality holds in the above). It is known (see [2], V. 2) that operator concavity coincides with operator monotonicity on $[0, \infty)$, and that a non-negative function $g(t)$ with $g(0) = 0$ is operator convex if and only if $\frac{g(t)}{t}$ is operator monotone.

A densely-defined closed operator a affiliated with \mathfrak{A} is said to be τ -measurable if, for each $\delta > 0$, there exists a projection e in \mathfrak{A} such that $e\mathfrak{H} \subset D(a)$ and $\tau(1-e) < \delta$ where $D(a)$ denotes the domain of a . Let $\overline{\mathfrak{A}}$ denote the set of all τ -measurable operators affiliated with \mathfrak{A} , which becomes a complete Hausdorff topological $*$ -algebra equipped with the measure topology (see [7], [8]). Let $|a| = \int_0^\infty \lambda de_\lambda(|a|)$ be the spectral decomposition. Then it is easy to check that a is τ -measurable if and only if $\tau(1 - e_\lambda(|a|)) < \infty$ for λ large enough (cf. [4], [7]). The generalized s -number $\mu_t(a)$, $t > 0$, of $a \in \overline{\mathfrak{A}}$ is defined by

$$\mu_t(a) = \inf\{s : \tau(e_{(s,\infty)}(|a|)) \leq t\} \quad (0 < t < \infty).$$

The above definition corresponds to the decreasing rearrangement of the eigenvalues of $|a|$ (see [4]).

3. Main theorem

For the proof of the main theorem the following Lemma is crucial. The analogous inequality can be found in [3].

LEMMA 3.1. *For a positive operator c in \mathfrak{A} let q_1 and q_2 be projections commuting with c such that $e_{[0,s]}(c) \leq q_1 \leq e_{[0,s]}(c)$ and $e_{\langle s,\infty \rangle}(c) \leq q_2 \leq e_{[s,\infty)}$ where $e_B(c)$ denotes the spectral projection for c corresponding to a Borel set B in $[0, \infty)$. Then*

$$\|hcq_1\|_2 \leq \|cq_1h\|_2, \tag{3.1}$$

$$\|hcq_2\|_2 \geq \|cq_2h\|_2 \tag{3.2}$$

for every self-adjoint operator h in \mathfrak{A} . Here, $\|x\|_2$ denotes the L^2 -norm of an element x . (i.e. $\|x\|_2 = \tau(x^*x)^{\frac{1}{2}}$.)

Proof. Notice that $q_1c^2q_1 \leq s^2q_1$ and $q_1^\perp c^2q_1^\perp \geq s^2q_1^\perp$, since $e_{[0,s]}(c)c^2e_{[0,s]}(c) \leq s^2e_{[0,s]}(c)$ and $e_{[s,\infty]}(c)c^2e_{[s,\infty]}(c) \geq s^2e_{[s,\infty]}(c)$. Here, $q_1^\perp = 1 - q_1$. We compute

$$\begin{aligned} \|hcq_1\|_2^2 &= \|(q_1 + q_1^\perp)hcq_1\|_2^2 \\ &= \|q_1hcq_1 + q_1^\perp hcq_1\|_2^2 \\ &= \tau((q_1hcq_1 + q_1^\perp hcq_1)(q_1hcq_1 + q_1^\perp hcq_1)) \\ &= \tau(|q_1hcq_1|^2 + |q_1^\perp hcq_1|^2) \\ &= \|q_1hcq_1\|_2^2 + \|q_1^\perp hcq_1\|_2^2 \\ &\leq \|q_1hcq_1\|_2^2 + s^2\|q_1^\perp hcq_1\|_2^2 \end{aligned}$$

because

$$\begin{aligned} \|q_1^\perp hcq_1\|_2^2 &= \|q_1^\perp hcq_1^\perp\|_2^2 \\ &= \tau(q_1^\perp hcq_1 \cdot q_1^\perp hcq_1^\perp) \\ &= \tau(q_1^\perp h \cdot cq_1c \cdot hq_1^\perp) \\ &\leq s^2\tau(q_1^\perp hq_1 \cdot q_1^\perp hq_1^\perp) \\ &\quad (\text{since } cq_1c = q_1c^2q_1 \leq s^2q_1) \\ &= s^2\|q_1^\perp hq_1\|_2^2. \end{aligned}$$

In a similar way we have

$$\begin{aligned} \|cq_1h\|_2^2 &= \|q_1hc\|_2^2 \\ &= \|q_1hc(q_1 + q_1^\perp)\|_2^2 \\ &= \|q_1hcq_1 + q_1hcq_1^\perp\|_2^2 \\ &= \tau((q_1hcq_1 + q_1^\perp hcq_1)(q_1hcq_1 + q_1hcq_1^\perp)) \\ &= \tau(|q_1hcq_1|^2 + |q_1hcq_1^\perp|^2) \\ &= \|q_1hcq_1\|_2^2 + \|q_1hcq_1^\perp\|_2^2 \\ &\geq \|q_1hcq_1\|_2^2 + s^2\|q_1^\perp hcq_1\|_2^2. \end{aligned}$$

These two inequalities yield the first inequality of the assertion. Similarly for the second inequality, we get the conclusion. \square

LEMMA 3.2. For positive operators a, b in \mathfrak{A} and a projection q commuting with $a + b$ such that $e_{\langle s, \infty \rangle}(a + b) \leq q \leq e_{[s, \infty)}(a + b)$

$$\tau(q(a(a + 1)^{-1} + b(b + 1)^{-1})q) \geq \tau(q(a + b)(a + b + 1)^{-1}q).$$

Proof. We set $c = (a + b + 1)^{-\frac{1}{2}}$. Since

$$(a + b)(a + b + 1)^{-1} = c(a + b)c = cac + cbc,$$

it suffices to prove that

$$\tau(qa(a + 1)^{-1}q) \geq \tau(qcacq).$$

Notice here that $e_{[s, \infty)}(a + b) = e_{[0, \frac{1}{\sqrt{s+1}}]}(c)$ and $e_{\langle s, \infty \rangle}(a + b) = e_{[0, \frac{1}{\sqrt{s+1}})}(c)$.

Applying Lemma 3.1 to $a^{\frac{1}{2}}$ in place of h we have

$$\begin{aligned} \tau(qcacq) &= \|a^{\frac{1}{2}}cq\|_2^2 \\ &\leq \|ca^{\frac{1}{2}}q\|_2^2 \\ &= \tau(qa^{\frac{1}{2}}c^2a^{\frac{1}{2}}q) \\ &\leq \tau(qa^{\frac{1}{2}}(a + 1)^{-1}a^{\frac{1}{2}}q) \\ &\text{(since } c^2 = (a + b + 1)^{-1} \leq (a + 1)^{-1}\text{)} \\ &= \tau(qa(a + 1)^{-1}q). \end{aligned}$$

\square

In next proposition, we prove the main result for operator monotone and operator convex functions.

PROPOSITION 3.1. Let a, b be positive operators in \mathfrak{A} . Then:

(1) For a non-negative operator monotone function $f(t)$ on $[0, \infty)$

$$\int_0^t \mu_s(f(a) + f(b)) ds \geq \int_0^t \mu_s(f(a + b)) ds.$$

(2) For every non-negative increasing function $g(t)$ on $[0, \infty)$ with $g(0) = 0$ and $g(\infty) = \infty$, whose inverse function is operator monotone

$$\int_0^t \mu_s(g(a) + g(b)) ds \leq \int_0^t \mu_s(g(a + b)) ds.$$

Proof. There exists a positive measure $\mu(s)$ on $[0, \infty)$ such that

$$f(t) = \alpha + \beta t + \int_0^\infty \frac{st}{s + t} d\mu(s) \quad (t \in [0, \infty)).$$

So, for any positive operator $a \in \mathfrak{A}$ and any projection $e \in \mathfrak{A}$ we have

$$\tau(f(a)e) = \tau(\alpha e) + \tau(\beta a e) + \int_0^\infty \tau(sa(a+s)^{-1}e) d\mu(s).$$

Applying Lemma 3.2 for a projection p commuting with $a+b$ such that $e_{\langle \gamma, \infty \rangle}(a+b) \leq p \leq e_{[\gamma, \infty)}(a+b)$ ($0 \leq \gamma \leq \infty$) we have

$$\tau(p(sa(a+s)^{-1} + sb(b+s)^{-1})p) \geq \tau(p(s(a+b)(a+b+s)^{-1})p).$$

Therefore we get

$$\tau((f(a) + f(b))p) \geq \tau(f(a+b)p).$$

If \mathfrak{A} has no minimal projection, then there is a projection $p_t \in \mathfrak{A}$ commuting with $a+b$ such that

$$e_{\langle \mu_t(a+b), \infty \rangle}(a+b) \leq p_t \leq e_{[\mu_t(a+b), \infty)}(a+b), \quad \text{and} \quad \tau(p_t) = t.$$

Since f is increasing, we have

$$e_{\langle \mu_t(f(a+b)), \infty \rangle}(f(a+b)) \leq p_t \leq e_{[\mu_t(f(a+b)), \infty)}(f(a+b)).$$

So, we have

$$\tau(f(a+b)p_t) = \int_0^t \mu_s(f(a+b)) ds$$

(see p202, [9]). Especially we set $p = p_t$. We get

$$\begin{aligned} \int_0^t \mu_s(f(a) + f(b)) ds &\geq \tau((f(a) + f(b))p_t) \quad (\text{Lemma 4.1, [4]}) \\ &\geq \tau(f(a+b)p_t) \\ &= \int_0^t \mu_s(f(a+b)) ds. \end{aligned}$$

Next we prove the second assertion. From the above inequality we get

$$\begin{aligned} \int_0^t \mu_s(a+b) ds &= \int_0^t \mu_s(g^{-1}(g(a)) + g^{-1}(g(b))) ds \\ &\geq \int_0^t \mu_s(g^{-1}(g(a) + g(b))) ds. \end{aligned}$$

Since $g(t)$ is a non-decreasing convex function, by the majorization principle (see [6]) this implies

$$\int_0^t \mu_s(g(a+b)) ds \geq \int_0^t \mu_s(g(a) + g(b)) ds.$$

□

REMARK 3.1. In the above proof, we assume that \mathfrak{A} has no minimal projection. But this assumption is not restrictive, since we can always embed \mathfrak{A} into $\mathfrak{A} \otimes L^\infty_{([0,1];dt)}$ without changing the generalized s -number. (See p. 286, [4].)

Finally, we show the main result for every increasing convex function with $f(0) = 0$ and positive τ -measurable operators.

THEOREM 3.1. *Let f be a non-negative convex function on $[0, \infty)$ with $f(0) = 0$. Then*

$$\int_0^t \mu_s(f(a+b)) ds \geq \int_0^t \mu_s(f(a) + f(b)) ds$$

for positive elements a, b in $\overline{\mathfrak{A}}$.

Proof. By Proposition 3.1 we can prove

$$\int_0^t \mu_s(f(a+b)) ds \geq \int_0^t \mu_s(f(a) + f(b)) ds \quad (3.3)$$

for positive operators a, b in \mathfrak{A} . Here exactly the same argument as in [5] works so that details are left to the reader.

We then extend (3.3) to (not necessarily bounded) τ -measurable operators a, b . We set $a_n = \int_0^n \lambda de_\lambda$ and $b_n = \int_0^n \lambda de_\lambda$. Now, $a_n \leq a$, $b_n \leq b$ and $a_n \nearrow a$, $b_n \nearrow b$ in measure. By a simple argument we see $f(a_n) \nearrow f(a)$, $f(b_n) \nearrow f(b)$ in measure. By Theorem 3.5, [4] we get

$$\begin{aligned} \int_0^t \mu_s(f(a) + f(b)) ds &\leq \int_0^t \liminf_{n \rightarrow \infty} \mu_s(f(a_n) + f(b_n)) ds \\ &\leq \liminf_{n \rightarrow \infty} \int_0^t \mu_s(f(a_n) + f(b_n)) ds \\ &\leq \liminf_{n \rightarrow \infty} \int_0^t \mu_s(f(a_n + b_n)) ds. \end{aligned}$$

Since $a_n + b_n \leq a + b$ and f is non-decreasing, we have

$$\int_0^t \mu_s(f(a_n + b_n)) ds \leq \int_0^t \mu_s(f(a + b)) ds.$$

Combining the above estimates, we obtain (3.3) for positive τ -measurable operators. \square

REFERENCES

- [1] T. ANDO, X. ZHAN, *Norm inequalities related to operator monotone functions*, Math. Ann., **315** (1999), 771–780.
- [2] R. BHATIA, *Matrix Analysis*, Springer, New York, 1996.
- [3] J.C. BOURIN, *Some inequalities for norms on matrices and operators*, Linear Algebra Appl., **292** (1999), 139–154.
- [4] T. FACK AND H. KOSAKI, *Generalized s -numbers of τ -measurable operators*, Pacific J. Math., **23** (1986), 269–300.
- [5] T. KOSEM, *Inequalities between $\|f(A+B)\|$ and $\|f(A) + f(B)\|$* , Linear Algebra Appl., **418** (2006), 153–160.
- [6] F. HIAI AND Y. NAKAMURA, *Majorizations for generalized s -numbers in semifinite von Neumann algebras*, Math. Z., **195** (1987), 17–27.

- [7] E. NELSON, *Notes on non-commutative integration*, J. Funct. Anal., **15** (1974), 103–116.
- [8] I. SEGAL, *A non-commutative extension of abstract integration*, Ann. of Math., **57** (1953), 401–457.
- [9] E. STEIN AND G. WEISS, *Introduction to Fourier Analysis on Euclidean Spaces*, Princeton Univ. Press, 1971.

(Received December 1, 2006)

Tetsuo Harada
9-16-201 Hakozaki 1-chome
Higashi-ku
Fukuoka 812-0053
Japan
e-mail: tharada@math.kyushu-u.ac.jp